
1. Werner Bickel2. Peter Hartmann3. Rainer Hartmann
Viertelfinale HauptrundeHarald Luther - Peter Hartmann 0:2Rainer Hartmann - Friedel Hartmann 1:2Manfred Haus - Horst Löffler 0:2Armin Schneider - Werner Bickel 1:2Halbfinale HauptrundePeter Hartmann - Friedel Hartmann 2:0Horst Löffler - Werner Bickel 2:0Finale HauptrundePeter Hartmann - Horst Löffler 2:1Halbfinale TrostrundeRainer Hartmann - Horst Löffler 2:1Werner Bickel - Armin Schneider 2:0Finale TrostrundeWerner Bickel - Rainer Hartmann 2:1EndspieleWerner Bickel - Peter Hartmann 2:0Werner Bickel - Peter Hartmann 2:1


